
 

CBT , November 

Answer Key 

कक्षा - 3 विषय - ह िंदी 

प्र.1 

उत्तर  - सेठ 

प्र.2 

उत्तर - कपडा 

प्र.3 

उत्तर - सेठ 

प्र.4 

उत्तर -काफ़ी 

प्र.5 

उत्तर - कपड ेरिंगने का 

प्र.6 

उत्तर - ऊिं ची आिाज 

प्र.7 

उत्तर - सफेदी 

प्र.8 

उत्तर - सातो हदनों को छोडकर ककसी भी हदन 

प्र.9 



उत्तर - गोभी 

प्र.10 

उत्तर - जलन                                                                                   ENGLISH  

READ THE PASSAGE AND ANSWER THE FOLLOWING QUESTIONS 

Q1What is the name of the turtle 🐢 in the passage? 

Ans Tommy 

Q2 What does Tommy do when he feels scared? 

Ans Hide in his shell 

Q3. How long can turtles live? 

Ans for a very long time 

Q4. What are the qualities of a turtle 🐢? 

Ans they have hard shell 

Q5. Which animal is not a pet animal? 

Ans fox 

Q6. Who am I? 

I am the ship of the desert 

Ans Camel 

Q7. A rabbit lives in a 

Ans Burrow 

Q8. Baby tiger is 

Ans Cub  

Q9. Wild animals live in 

Ans Forest 

Q10. Which is the correct pair of rhyming words? 

Ans  Hay _ say 



                                                       Subject: EVS 

       1.Name the sense to which following sense organ is related.  

Ans. Sense of sight  

      2. Name the food item that we  usually  get from cows and  buffaloes. 

       Ans.  Milk 

      3.Name the script  which blinds use to read. 

Ans. Braille  script  

4. Leaves  of this plant are  used for treatment of cough and cold. 

Ans. Tulsi 

5.Which  language is used by dumb people to express their  feelings? 

Ans. Sign  language  

6.We get  fruits and   vegetables  from   _____________         

Ans. Plants                                                               

7.Which    food  item  old  people  can't  eat  ?     

      Ans.  Bhutta 

8.Blind  people  use  _______________ when  they  go out. 

Ans. White  stick  

9.What   do  you  take  with  water   when  you  have   a   stomachache? 

Ans. Ajwain 

10.Who  read the newspaper loudly to nani ? 

Ans. Papa 

    SUB – MATHS.                

1.Weight of bike  

Ans -kg 

2.weight of coins  

Ans – g 

3.Name the divce  

Ans- weighing balance  

4.which of the following is true. 

Ans - 1kg > 600 g  



5. Balance the scale  

Ans – 700 g  

6. Find the total weight of the vegetables. 

Ans – 10 kg  

7.what is his weight now . 

Ans – 72 kg 270 g 

8. Change into g 8 kg 550 g  

Ans. 8550 g  

9.change into kg . 4000g  

Ans – 4 kg  

10. One book wt is equal to.  

Ans – 4 Lunch boxes 

 

 

 

 

 

 

 


